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������x����-z��R���[x�������x-�����p�b�$�/���m�
c   ������¡+¢-z|����£¤�~�   �|z��~�Iz�}d�h¥h�¦�~���-�I��������¢����m§;¨~�p�������I�[©��I��}d�-���
d �
�~�ª���I�����ª���Ax-¡�«e�I�~���I£��I���[¬
{~�p­��-���
e ® �-x-��xd�
�~�ª���������ª�����f¯��-°~�-�
f ± z|x����|²��´³��~��������{m����x-¡4µ4��£¤�~�~x�z�x�­-�-� ± ���/���m�¶ x-�Uz���������¡·��x�}¸���p�´�¦�~���-�I���������¹x-¡�«
�I�~���I£I�����[¬
{~�~­��-���pº
g ® {~��£¤���»��xJ�B³��~��������{p�����f§;x���£�xJ¼½�[¾b{~�������
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µ��~�qË9¬eÌ9�¦³ÎÍÏÌ�z��I£�����x�}d�-­��p������£�wÐ�-z�x�����}d�Ê����� ¶ ÌP§�wÐ��zrºy£Ix-�~���������bx-¡4Ñ%����£���x����b�|�
��¼Èx_��{~�~���D�Ò���I}��IÓ�µ��p��Ô�z|����²DÕD��£��|������z|z|����x��P����£���x����
x-¡����~�½£��-z�x�����}d�Ê���I� ¶ x-¡r�����;���Ê¥
¡·��������²´��x��-�4Ë��/�m£JºX�������yÔ-Öez|�J�-�I���4x-¡~z|����²��-�p²���£��|������z|z|����x��?���~�������R¼b������z|x-�~­�����{~²~�×¥
����zD¼y�����Iz��I�~­����&���~�ª¡r�����~­eØ��f�I�������-²px�{p��Ó4µ��~�bÙez����-²$­-z��-��������£���x���� ¶ Ë9��©½z�ºR{~���y���~�
wy�~�������~�-xJ�U��Ú[�I£Ê�¦��x&}d�I�-��{~�������~�½���~�I��­-�Ax-¡4����z��������D�|�Ò���|£
°��-�Ò���|£�z|���IÓ�µ��~�´ÌP§�wÐ�-z
¼y�-�_²p�I����­��~��²Û°~����}_�����|zª�Ü��xÝ}d�-�-�U°~���I£I������x��Þ}����-��{~����}d�������_x�¡�°~��x-}d°p��z��ß°p��x�¥
²~{p£I�I²;°~�~x-��x��~�¦�-�~²B��z|�I£Ê����x��;°~�-�|���Ð¡·��x�}à�D{p£Iz|��{~�hÕ^�D{p£Iz|��{~�¦£Ix�z�z|�|���|x��p�Ð���¦¾¦¬
³ÒweÓ
³��á���~�UË9¬eÌ9�
³ÎÍâÌ�z|��£�����x�}d�-­��~�Ê����£BwÐ�-z|x-���|}������I�´�[x-���ß���~�B�I�p�I��­��ã�-�~²ß���~�

���|}��¦x�¡X�-���������-z~x�¡��|�~£�x�}��|�~­½°��-�Ò����£Iz|���y�����¦}d�I�-��{~���I²�Ó�µ��p�e�I�p�I��­��¹�-�9¼È�Iz|z[�-�9���~�
���|}��Ð������°fx��~���¦x-¡[���~�b���D�Ò���I}ä����²���xq�f����{~�p�I²¹���È��°~���I���Iå^{~�|�������b��xq���~�¦�-���-zª�D���I�
¡·x��eæ�{��-����§��»��������Ù-ç-ç�ÙmÓeµ��p�$£��-z��|�~��������x��A¼yx-��� ¶ ²~x��p�$}dx-����zª�B�|�U���~��Ø~���������-z�¡
x-¡�Ù-ç�ç�Ù�ºÈ�|��²p�I��£������[��²��|�¹���~�|�¦�-�~�-z��D�����Ð�~x-���-Ó
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µ��~�B��������x �[�Ê��¼y���I�Û���ã�e«�w £�x�{~�����P¼b�~�|£¤�ã£����ã�f�A¡·x�{~�~²á��� ���~�UË9¾
« ± Ø�z��I�
�-�p²&���~�b£Ix���������°fx��~²~���~­½}d�I�-��{~���I²��I�~����­-�$�|��£���z|z|��²$���~�b�Ò�m�Ò����} ­��-�|�$¡+��£���x-�IÓ�µ��~�
°~��xm²p{~£��qx-¡Ð�-�Ü�e«�w�£�x�{~���$���~²	���~�����I��°[��£���������­��-����x-¡��-�ÜÌP§�w ��x ¼È�I�½�D�|��z|²~�
���~���I�~����­-�_²~�I°fx���������²A�|�¹�������Ð��x ¼È�I�����B�-�A���-�I����ÓPµ��~��£�xm²~����������°f�I�Ò¡·x���}��y���~�|�
£I�-z|£�{~z������|x��_�|���|�-	.0/21032454	687:9<;5;>=@?BA>C@7ED>F>GEH2F0I@C>JK70C<LMG:NKG0F2=@?POQ70.:F@=2?BOR70C<LMGE32F0S:T2F	U>F5.:F@=2?BO@V@F0UR9<VXWY. �
�-�p²%�|��£I�-z|z��I²$���´���~��Ë9¬
ÌP�¦³ÎÍ)x	Z��|�~�y���I£�x��~�Ò����{p£�����x��%��x�¡r��¼Ð�-����²~{~���|�~­�«��mµ °p��x�¥
²~{p£�����x���Ó$µ��p�&���-���������|x��;x-¡È­��-�|�p���|��°f�I���|xD²~�|£I�-z|zª�A}dx-�~����x�����² �^� �B­��-�|�������-£��|�~­
�Ò�m�Ò����} �D�|�&}�������{~���|�~­&���~�½���~�I��­-�Ux-¡�z|�-�����b�|}�°~{~z|���I��x-¡�°~����£I�����Izª�B�^�~xJ¼b���|�����I�m¥
��������Óbµ��~�´�|�������~���ª�����I�¦x-¡����p�´z|�-�����
��}d°~{pz|�����e�����q}d�I�-��{~���I²����U°~�~x���xD²~�|xD²~�I�
�-�~²
�-���´{p���I²��-�
�px���}d�-z|�\[������|x��d¡+�-£���x����b��x��Iz��|}��|�������e���p�´���^���I�~�������^]�{p£���{~������x���Ó ± x��
}�x��~�ª��x����|�~­����~��������°fx��~����x-¡����~�e��z|�I£Ê����x��~�|£��y�´£I�I�Ò�¤�-���¹�-}�x�{~���Èx-¡�£¤������­�� ¶ �q���I���
°~{pz|����ºR�����|�E_��I£����I²%���^��x����4°~���|x��X��xe���~�Ð°~���Ê¥��-}d°pz|��Ø~�I�I� ���p�Ð���I�-²~�|�p­ex-¡�¼b�~��£¤�%�����������
�-���-�~x-���~�I�
�~x���}d�-z��`[��»���|x-�B¡+��£���x-�
��xA£�x�}�°[���~�����������p�(]�{~£Ê��{������|x���x-¡����~�����|­-���-z
�-}�°~z���Ø�£I������x��A�|�B���~�´�Iz��I£�����x��p�|£I��Ó�µ��~���Ò�D������}â­��-�|�U�|�¦²~�|���I£Ê��z��B°p��x�°fx������|x��~�-z?��x
���~�½°~��xD²~{~£Ê�bx-¡����~�I���½��¼Èx_£�x������I£Ê���|x-�B¡+��£���x-���IÓ
�m���~£I�9­��-���~�R�-���9�~x��4}�������{~���I²��Ê�������q����£Ix��~²?���b�����4x-¡m���~��}t�-����Ø~�R���½�������|���4x�¡

�Ò�������|­����bz|���~�I���/�-�~²B���~�q�|�p���¤���^���-�~��x�{~�b­��-���;�»�e���^�B�������I��}d��²~���»��������}d���f����¼È�I���
��¼Èx½}d�I�-��{~���I²�°[x-�|������£I�-�&�[��£I�-z|£�{~z��»���I²%{p���|�p­½���~��°��-���-}�����������x-¡/���~�ÐØ~��Ó�µ��~�I���
°������-}������I�����-���Ð�Ò��x����I²&�|�´���~��²��»�¤�-���������~{p�����~�Ê�%�-z���x�£����%�[�Ð�����-²&����¡·��x�} °~z|�-�|�
����aD��Ø�z|��� ¶ £�x�°~�|����x-¡^¼b�~�|£¤�½£I�-�½�[��¡·x�{p�~²½{~�~²~��� 7�D5b>C<A,?�c>7�S89<V5H2F0V@C5F27�d2C2J�eKD:d87<I>F>?PAQJ@f º Óg �~�PØ�z|�P£Ix������-�|�~���e­��-����������x�¡/x��~�y��{~°f�I��}�xD²~{~z|�P�|�q���~�P¡·x�z|z�xJ¼b�|�~­�¡·x���}_���ih�£¤���-�m¥
�~��z~�^{~}$�f�I�kj^���|}��Ðx-Ú[���Ê�9�|�%����£Ix��p²~�9}d�I�-��{~���I²&¡·��x�}t���p�b���-z��|²~�ª���½²�������x-¡[���~�����Ê�Pj
���^���I��£I�I°m�Pj/�-�~²B��z|x�°f��x-¡R���~�½z|���~�-Ó�µ��~�����|}��e���-���������|x��¹x�¡����^���I��£I�I°m���¦�|�����px ¼b�U�|�
± ��­~Ó è Ó�¬¦�I���e���~�
­��-���d¡+�-£Ê��x����Ð�-���e²~�ª�m��²~�I²d���d���~�
Ø������y�����Ðx-¡����px��������I��°[��£����ª����z��
��x��Ê�������B£¤���-�p�~�Iz6Ó
�)����}d��z��-�R���Ê�Èx�¡?°~z�x-�����|� ± �|­pÓ�Ù����~xJ¼b�9���~�b��{~�d²p�I°f�I�~²~���~£I� ¶ £Ê¡hÓ�����}d�y²~�I°f�I�m¥

²~���~£I��ºPx-¡?���~�
�|��������£I��°p�Ðx�¡�­��-���~�P�|��²~��Ú[�I���I���Ð­����-�^{~z|��� ¶ ����£���x-�y°��-������ºÊÓ��
z����~x�{~­��
�ª���|��°fx������|�pz|�$��xA£I�-z|£�{~z��»�������~�&­��-�|�p�����q�-�������I£�x��~²	x-¡Ð�A��{~� ¶ {~���|�~­A���p�%��z|x-°[�
x-¡9���~�%z|���~�Jº �[���~�����|�e�~x-����}d°~z��I}��I������²��|�����~�%²������»¥�£I�-z|���~���»��x��b£IxD²~�<jX���~�I����¡·x����-�
x��pz������~�����^���I��£I�I°m�������px ¼b�Ux��¹���~��°~z|x������-����{~���I²U�^�d���~��x<Zd���~�����I£Ix-�~������{~£Ê���|x-�
��x�­-���
�%���|�p­�z|��­��-�|�A¡·x����Ê���I�Ò�B­������D{pz|���|�B�Ê���I�Ò�B��{~�?Ó
lnm'oEprq<pts�qEuvprwEpnxPy'yzsXyzo�pr{zpt|nyz}vs�w%yz}~yzuvpt{����zp�yzoEsi{�p���pt{zq<skw�{�}v�Euvp���sk�����z}~yz}vwE��yzoEp�{zpt|nyz}vs�w���w��
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Nent = 534495 
Mean x = 3.113e+04
Mean y = 0.9816
RMS x  =   1560
RMS y  = 0.05508

Run dependence of (normalized) average gain for W0 and W1 m1
Nent = 534495 
Mean x = 3.113e+04
Mean y = 0.9816
RMS x  =   1560
RMS y  = 0.05508
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Nent = 404158 
Mean x = 3.137e+04
Mean y =  0.948
RMS x  =   1574
RMS y  = 0.05409

Run dependence of (normalized) average gain for W2 and W3 g1
Nent = 404158 
Mean x = 3.137e+04
Mean y =  0.948
RMS x  =   1574
RMS y  = 0.05409
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Nent = 535383 
Mean x = 3.127e+04
Mean y = 0.9705
RMS x  =   1556
RMS y  = 0.08036

Run dependence of (normalized) average gain for E2 and E3 g2
Nent = 535383 
Mean x = 3.127e+04
Mean y = 0.9705
RMS x  =   1556
RMS y  = 0.08036
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µ��~�y­��-�|�´���Ê��z��-�f�Iz�z|��²$¾b{~�/Ù ¥ è �|�R���-z|��²´¡·��x-}Ï�D�I°p� è çp��Ù-ç-ç è ��x g £Ê� è ÙD�^Ù-ç�ç è Ó4µ��~�
­����|�dØ~z|�I�y£Ix����¤���|�A�-�A�������|���e�����bx-¡X­����|�~�P¡·x��È���~����am���������~­$��{~°[����}�xm²p{~z|�������y�������
���|}��-Ó ¶ ÖA�~�Ê¼Ï��{~°f�I��}�xD²~{~z|���e¼È�I���&���~������{~}��I������²��|�   a ²~{~���|�~­¹���~�%���^{p��²~xJ¼b�
���U�I�-��zª� g £���x��f�I�I�p}_�-�^���~­&�&��x-�¤��z�x-¡ è Ö�� è Ñ%���;��z|z?x����~���
Ë��/�D£q���I£Ê��x�������ºÊÓ
¾b{~�/Ù ¥hÙB���q���-z��|² ¡·��x�} g £Ê� è ÙD��Ù-ç�ç è �����~²��4¼b�ª�������~�d��am£I��°p����x�� x-¡   Ù��-�~²

  a �p­��-�|�p�����I}d�-���A{~�~£¤���-�p­��I²U¡·��x�}¸¾¦{~��Ù ¥ è Ó
����� ������� ! �n)
��!������0� � )!�����"�:�#�
³��¹���~���I�p�I��­��¹£���z|�|�p�������|x���x-¡��P���-��Ù´²������$�|�¹°~���I°����������|x��_¡·x-��æ½§�Ù-ç�ç�Ù´���~��­��-�|�
�����-£��|�~­¹�Ò�D������} ¼Ð���%$�&('e{~���I²�Ó ± x��¦���~�%�������|���%°[������xm²�x�¡Ð¾b{~�m¥hÙ����~�$Ø~���������-z��|²
������x-¡��Ò�D������}!­��-���á¡+��£���x-���%¼Ð���d��°~°~z|���I²�Óßµ��p�|�%¼Ð���d²~��£I��²~�I² ²~{~�A��x ���p�;z|�-£¤�
x-¡y�^�~xJ¼bz|�I²p­��dx-�Ü�~xJ¼ ���~�&­��-���	�����-£��|�~­A¼Èx������I²ß�-�p²Üx-¡y��{�)�£��|�I���´����������������£I����x
���^�-�I�Ò���|­������&�����»��ÓU�¸°��-�Ò�$x-¡y���~�d²����¤�B¼Ð���$°~��xD£I�������I²ß{~���|�~­����~�_­��-�|�	������£I�|�p­~�
�~{m�_�~xÜ�-����z��D������£���x����Ò¥Î£¤�~�I£¤� ¶ ��Ó ­~Ó�¼b��²p��� �-�~² °[x��������|x��áx-¡
���~� π0 °f�����pº%­������
�-£�£I��°p�¤�-�pz|�½������{~zª���I�~���^{~�����~�½�|²p���$¼Ð���b���I}�°[x-���-���|z��d�-�~�-�~²~x��p�I²�Ó
µ��~�P�I�~����­-�½£I�-z|���~���»���|x-� ¶ §;³hË�°f���-�e°[x��������|x��/º/¼Ð�-�R}�x��~����x�����²�¼b�����½���p�yæ�{���zª¥

�ª���¹�e����{~���-�~£�� ¶ æ���ºy£IxD²~�q�-�~²A���p�´��£Iå^{~�|���I²U�|�p¡·x-��}d������x��d¼y�-�b{~����²;��x���}d°p��xJ���
�������b�|�A���~�½}d��£I��x�«��mµ ��¡r�������~{~���~�I�b°~��xm£��I��� ¶ ���I�´�m��£����|x��UÖ^ºÊÓ
���+* ,-	�� )%!����.�0/1��/-�>!2�3�4/*#%��!��
± ��­~Ó a ²~�|��°~z����D�½�[x��������~�����������-­��dx-¡P���~��­��-���~���|�����~� a Ë��/�m£_­-���-�^{~z��I� ¶ ¡·��x�}
���~�%­��-����������£I�|�p­~��¼b�~�|£¤� ¼y�-�5$�&('�{~���I²/º��-�~²Ü§;³hË °[�I�-��°fx����ª���|x-�~���-­��-�|�~�Ò����{p�
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Electron ToF in PHENIX PbSc EMC
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¡·x��¦����£¤�
x-¡4���~�����q���~���I���px�z|²~���f���~������x�­�����}¸¼Ð���
}d�-²~�qx-¡����~�q�D{p}$�[���bx-¡���xJ¼È�I���
�~�ª���f�-�~²
�ÜË4x�������x-�Þx��_©q��{~�������-�ã¼Ð�-��Ø~�_�-��x�{p�~² ���~��}����-�á���-z|{p�-Ó2µ��~����²��Ðx-�~�;x�¡����~�
���~�������~x�z�²~��¼y�-�È£¤�px�������¡·x����I�-£¤����{~���D�-�p²d��z|zm��xJ¼y�����9¼b�~x����b�^{~}$�f�I�9x-¡f�~�ª����¼È�I���
�-�fxJ���_�;£I�������-�|�Ü�D{p}$�[����x-¡Ð���¤���~²��-��² ²~���D�|������x��~�I�R²~�ÊØ��~�I²ß���	���~��Ø~�q¡·{~�~£����|x��
���B���~�½����£Ix��~²;�����I°���¼È�I���q����£Ix���²~�I²U¡·x�������£¤����{p�;���B����aD�bØ�z|���b���-����²�x��A���~�$æ��
ÌP§�w)��aD���������n_��I£Ê�¦z|�|�Ò�Ð¡·x���}_���IÓ��X�-���I�p���p�½����aD�bØ�z|���Ð¡·x��b�-z�z?°~��xm£��I�����I²;��{~�~��¼È�I���
£�x�}$�~���~�I²¹������x�x-�~��z�����­��bØ�z|�
£Ix������-�|�~���~­´���~�e{p�~�|x��_x-¡R�-z|z/��²~�I�����ªØ��I²_�~x-�y��xJ¼y�����IÓ
µ��~��Ì�}�£�¾b�n_��I£Ê���¦¡r���I���y{~���~�I�½£IxD²~�$���~�I��{~°f²������I²����~�&�-°p°~��x�°p�����»����Ø���z|²~��x�¡Ð�-z�z
£�z|{~�Ò���I���b���-����²�x��A���~�|�ÐØ��~�-z�z|������Ó

�������� ���������������� ! !��"#�
g ���&��{p�����B��{~���~�-�����I�����~�q�^{~}$�f�I�
x-¡��~�ª���
�-�fx �-����£I�����¤���|�����~�I��­-�B���~���I���~x�z|²
¼È�I���ÐØ����Ò�9�~�|�Ò��x�­����-}�}d��²´¡·x����I�-£¤�&��xJ¼y���IÓ ± x�{p�����~���I���~x�z|²p��¼y�����b����{~²~���I²'h�ç½©½���¶ �~x%���~���I���px�z|²/º �/çpÓ E ©����$� è Ó ç�©���� �-�~² è Ó E ©����$Ó ± �|­~Ó è �$���~xJ¼b�
�-�B��ap�-}�°~z|��x�¡
���~�I���´�~������x�­�����}d�y¡·x-����{~� a ç�ç-ç � Ó

������%$ &'�(�)����"*�
± x��Ð�I�-£¤�Bx-¡X���~���������p���I���~x�z�²~�I���%�~������x�­�����}ä¼y�-�b}d�-²~��x-¡X���~���^{~}$�f�I��x-¡X��xJ¼È�I���
�~�ª���D�-�~²_��ËRx��|����x��_�-�~²A��©q�-{p�����|�-�&¼y�����eØ~�y�-��x�{~�~²����~�¦}d�I�-�d���-z�{~�¦x-¡��^{~}$�f�I�
x-¡f��xJ¼È�I���È�~�ª��Ó g �p�¦x����~���P²p�|���������~{p����x��$¼y�-�È�Ò��{~²p�|�I²&��x½{~���e���9Øp�������~­�¡·{~�~£Ê����x��'h��
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± ��­�{~��� è �@h � /�	�(X�������O#�� �7�M
��'N � � ��0 �L�6UK���"�
��>��$T U4� �$# �Q>�� � ���W��� � pT
,�/��D�O� ���\�[/��

%X;X;X;���2

�~���~x�}����-zp²~�|�Ò�������~{p���|x�����¼b�p�I���¦���~�
�����-�~²��-��²¹°~��x����-�~��z|�ª��� p �-�~²¹�^{~}$�f�I�Px-¡������|�-z|�
n �-�p²U���~�½��£���z|��¡+�-£���x��Ð¼È�I�������~��Ø~�����I²U°��-����}d�Ê���I���IÓP¬
xJ¼È���-�I�b���~���¦²p�|���������~{p����x��¼y�-��¡·x�{~�p²	­-�I�~�����-z�z��;�~x-����xA�~�J�-���B���|­��p��Ø�£I�-����z��U�f�������I� χ2 Ø~�����-z�{~�-���Ê���I��¡·x��
�~��­��~���e���~���I���~x�z|²p�IÓ   �~�Ê���~���½��xA{~���%���~�d©q�-{p�����|�-� x��½ËRx��|����x���������{~zª����¼y�-�½²~�Ê¥
£��|²~��²U{p°[x��A��{~�U�^�_��{~�U�-£�£Ix���²~�|�p­$��x%���~� χ2 Ó�³��B}�x�����£I�-�����I�~���~�½���I��{~z�����x-¡X���~�
©½�-{~���������BØp��¼y�����q{~����²�ÓÈ�
�;��ap�-}d°pz|��x-¡R���~�´©½�-{~���������BØp�b�|�����px ¼b�;�|� ± ��­~Ó è ÑmÓ
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�~�ª���4�¦��x ¼È�I�4£Ix�{pz|²��~�J�-�y¡·x������p�y��{p�%�-�~²´�~x-�4�[�È£Ix��~���|²~������²$�~x-�IÓ��ez�z���xJ¼È�I���4¼b�����
�^{~}$�f�I�½x-¡y�~�����q�-�[xJ�-�����~�|�½z|��}d�ª�e¼Èx�{~z�²	���~�I�Ü�[�&�|²p�I�����ªØ��I²Ü�-�q�~x-��Ó�µ��~��z|��}d�ª�
�-�p²$�����4²~�ÊØ��~�ª���|x-�´¼È�I���y����{p²~�|��²$��aD�����~���ª����z��Qh�z��|}�������x�¡ a Õ è Ùb�����-�~²��-��²$²~�Ê�m�|������x��~�¶ ²~��Ø��p�I²B���_���p�eØ~�����|�~­´¡·{~�~£����|x��p�Ðx��y���~������¼ ¾
§��~ºÊ�~�-�y¼È�Iz|z?�-�Ðz��|}������9�������I²Bx��
���~�d�Ò�¤�����|�Ò���|£��´���Ý�B£I�������-�|�Ü���-}�°~z|�%¼È�I���_����{~²~���I² ���~² �-°p°~��x�°p�����»���&z|��}d�ª���e¼È�I���
£¤�~x-���I��x����_��{~���^����{~�����-�����IÓ ± x�{p�e�����-�~²�����²�²~�Ê�D�������|x��~�¦¼Ð���e���~�´�-��z|{~�q{~����²
}�x����$x-¡r������Ó��ez|zP��xJ¼È�I���%¼b�ª���ß�^{~}$�f�I���%x-¡¦�~�����%�-�fx �-�¹���~�_z|�|}����½¼È�I���B¼b���������I�
��xdØ�z��I�b¡·x���}d�������I²;�-£I£�x���²p�|�~­&��x����~�$æ���ÌP§�wÐ�-zR��aD�����d���n_��I£Ê��z��|���b¡·x���}_�»��ÓÐµ��~�
°~��xm£��I�����I²Ü��{~�p���|�~£�z|{~²~��²	�-°~°~��xBam��}_�����Izª� a ç � x-¡P���p����{~�~�½�-�p² E ç ÕmÔ�ç � x-¡9���~�
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± ��­�{~��� è Ñ2h �)��/ ���1� ��� _I� �L�4�^#��V>-� ���^����(�/���� ��� ��� ��/�	O(X���I��� #X� �D� UY� �^# �^#��:,�/ � pT > 1.0 ��� �
� ��� �[/��=%X;X;X;���2

�mç a ²������-���Ê��ÓPµ��~�I���/¡·x��bË��/�m£½���p�|�b��{~�U���B��{~�;�|�p¡·x-��}d������x��_¼y�-�
}��I��­��I²U�|����xd�
­�z�x����-z ¶ � Ó �-Ó���{~�m¥Î�|�~²~��°[���~²~���^�¤ºq���n_��I£Ê��z��|�Ò�q�-�q¡·x-z|z|xJ¼b��Ó_�ä��xJ¼y���q¼y�-�´£Ix��~���|²~������²
­�z�x����-z�z��B�~x�� ¶ �-�~²?��£Ix��~���Iå^{~���~z��-�4}d�-²~�%�ª���|����x¹���~�&­�z|x-���-zR���n_���£��qz|�����¤º
��¡P���e¼Ð�-�
�~x��½�|������z����-�Ò� è ç � x-¡P���~�%��{~�~�½°~��xD£I�������I²�Ó%µ��~����£Ix��p���I�Ò�������ª���%���~���I���~x�z|²��Ò���|z�z
���I��{pz�����²Ý��� �;���Iz|�����ª���Izª��z�x ¼ �D{p}$�[����x-¡y�~x-�q��xJ¼È�I����x�{p�����|²~�   a ���-�´���~xJ¼b� �|�
µ4�-�~z��%ÙmÓ
µ��~� E ­�xDxD²�Ë��/�m£%���I£���x����e��������Ù-Ô_�px-�e��x ¼È�I��� ¶ çmÓ Ù � ºbx�{p��x�¡P�d��x-���-z
x-¡ è Ù � Ô�çpÓ

µ4�-�~z|�qÙ:h �V/�	O(X�������:#+��� �L�6UK���8�"�
�M�$#+�Z&�(+*�,?�W���7�6,1�Y0 � ���
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± �����-z�z����R���~���$�����~­�z��¹£Ix�}�°~��z|�I²Üz|�����$¼y�-�%£Ix-}$�~�|�p�I² ¼b�����ã� Ë9��©½zÐz��|�Ò��¼b�~��£¤�ã���m¥
£�z|{~²~��² E Ù�Ë��/©�z��~x-�%��xJ¼y����� ¶ ²~�Ê���I��}d���~�I²ã����°��-��������z��ß��� ���~�UË9��©½z�­�{m�m�d�-�~²
�~x��
���Bx�{p�¦°p��xD£I�I²p{~����º�������xd�%Ø~���-zX�����~­�z|��z��|�Ò������x�����²��|� 70F0;8J57<V0b,?KG57ED5b>C<AM?Ec>7@N�QJ	C0VRJK7
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µ��~�¦Ì�}�£�¾b�n_��I£Ê���¦¡r���I���y{~���~�I� ¶ -	.0/21	3>454	68759	;5;>=@?PA8C@7ED>F2G�H2F0I@C2J570FK;KU>C0V����2V0A8C0V87@N�0L,GE3>C�	5C2GEU �5;KU2C0V����@V0A>CKV�W��Y.	b�
 º�}d�-�����I²����~��¼y�-���p}_�-°�¡·x-�XË9���m£ ¶ �-�~²�¼y�-���p}_�-°
�-�p²$²~����²~}_��°�¡·x���Ë��/©�zrºR�-£I£�x���²p�|�~­¦��x����p�È��xJ¼È�I��}d�-°�²p�I��£������[��²%�|� -	.0/21032454	6872N9<;5;>=2?PA>C@7ED8F2GEH2F0I2C2JK70C�LMG:NKG	F@=2?POR70.@F@=@?BOQ70C�LMG
���8JrW��Y.	b�
 �|�Ü�-z|z��»¡r���I���~{~���~�I²Ý�mç a
}��|£���x�«��Dµ � ��Ó�µ��~�|�y¼y�-�b²~x��p�����A}_�����^�|�~­��~����� ���	�ª¡����~�Ê�A£Ix-��������°fx��~²~��²A��x%x��~�
x-¡Èx�{~���px-����xJ¼È�I���q�|���
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��å^{��-��� ¶ }��|�^{~�����p��£�x����p�I����º��-��x�{p�~² ���~�&£I����������z

��x ¼È�I� ¶ ��������¼b�ª���%���~�¦�~��­��~�I�Ò�9�I�~����­-�&²p�I°fx����ª� º��|����£Iz�{~�����I�IÓ�µ��~�|�9x�°f�I��������x��%¼Ð�-�
����������°f�I£Ê�����-�½�-�y��x&¼b�p�����p�I�Ð���p���~x-����xJ¼È�I�Ð¼y�-�¦�-£���{��-z�z����|�~£�z|{~²p�I²A�|�d���~��£�z|{~�Ò���I�
x��¦�~x-�I�?���|�~£��´���p�|�e���p¡·x_���e£�{~�����I����zª�;�px-�������-�|z|�-�~z��-Ó ¶ Ì�am£I��°p�½��¡����~�´�~x-�e��xJ¼y�����|�
���~�½£Iz|{p�������b£I�I�����I�b�������Izª¡¤º Ó
± x��½Ë��/�m£��4�ª��¼Ð���´�~x����|£��I² ���~���½���~�&²~�I�-²~}d�-°	�-�~²�¼Ð�-���~}d�-°����-²	�[���I�	�����

��xB���~�&���-}��$���-z|{p�$¡·x��½�-z|z���{~�~�½�������~��«��mµ � �����~²	���~�&}d��£I��x�«��mµ � �IÓ&µ��^{~�I�X��x
����x-�|²	²~�I�Ò����xJ�D�|�p­��|�m¡·x���}d������x����?¼È�_£�z|�I�-����²	���~�d£�z|{~�Ò�����q¼y�-���p}_�-°p���-�p²Ü����Ø�z�z|�I²
���~�I}Ï�-£I£�x���²~���~­e��x����~�Ð�px-����xJ¼È�I���9¼È�Ð¡·x�{~�p²�Ó ± x���Ë��/©�z �»���~�Ð¼y�-���~}_��°~���-z�������²p�
£�x����¤�-���~�I²d�|�p¡·x���}_�»���|x-�%���I°~�-�������
¡·��x�} ���~�
²~����²~}_��°�Ó9�m���~£I� ® z|�-{~�P¾b���D­��I���Ð���-²
­��ª�����Þ���~� g ® ��x }_�����ß���~��²~���-²p}_�-°p�I��¼y�����|}�°~zª�ã�-²~²~��²Û���~� E ÙÝË��/©½z
�~x-�
��x ¼È�I���_��x	���~�;²~����²~}_��°~�_x-¡e���~��Ë9��©½zewyz|{~�Ò�������I� g ¾Ð¥��|�p­	�p�����d��{~£¤�Û�����������~�
x����|­������-zf²~����²~}_��°~��¼y�����½z|�Ê¡r�b}_�-���-��²;x��?Ó
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�$��ap�-}�°~z|�P¡·x��R��{~� a Ù è Ù a �|�����~xJ¼b�%�|� ± �|­~Ó è � �����-���-z��|�~­¦���~�È������{~zª���|�p­e�|}�°~��x �-�Ê¥
}��I���¦�|�A���p�q�p�|­��B�I�p�I��­��B£Iz|{p�������b��°f�I£�����{~}UÓÈ�
x-���|£I�����~�½²~���-}d�����|£����I²~{~£Ê����x��;x�¡
���~� ��°f�I£Ê����{p} ���B�~�|­-�2�I�~����­����I�I�
¼b�~�|£¤� �~�����~­��A�ª�A�|�2z��|�~��¼b�ª���2���p�	��am°[��£�����²
��ap°fx��~����������z � °fxJ¼y����z���¼M²p��x�°Ux-Ú4Ó
����� � !�� #� ��&�� � ���>)* ��& �0	�� � ��� � ��� ������ ��	�� 
�	�� �
± x��½���~���mç a «��mµä°~��xm²~{p£�����x�� ��� ��aD���������Y_��I£Ê�%z|�����q¼Ð�-��£I���I������² ¡·x��½���~�_Ë9��©½z
°������¦x-¡����~�q£��-z�x�����}d�Ê���I��Ó�µ��~�|�¦���Y_��I£Ê�ez��|���Ð£Ix����¤���|�~�¦Öd²p��Ú[�I������� ]��-­��b¡·x��¦�&��x ¼È�I�¶ �-���A�~x��m¥ [I����x%���-z|{~�����~²~��£������I�Ð����x�{~�~z��Jº�h
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± ��­�{~��� è � h N �+���8��
 � �X�6,1�^�[/�	 3^5 (X�^�����W�M�$#��P#���� �7� U ���:�W��	!��
���0�B CD5M� � �L�����^#��Z#������L�6UK���
�W��	���
���0
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 �L����0���� �^#��M>�� ���$���
(�/ �$� ��� � � �������X2

è Ó �#� � �� �� ��� ������	�� µ��~�����$��x ¼È�I���½�-����£Ix�}�°~z|�Ê����z��B�Iz��|}��|���»���I²;���
���~�$£I�-z|�×¥
�p�������|x��U�����-­��q�^�U���������|�~­����~���|�¦­��-���U��x¹çpÓ�µ��~��������xJ¼y�����������-�$�-�~��x�z|{m���Izª�
£����	[Ê�%�I�p�I��­��%��°f�I£Ê���������~���P�-²p�-�I�����Izª�&��Ú[�I£��9���~��£Iz�{~�����I�����~­½°~��xD£I��²~{~���-Ó��
z|z
���~�e£�z|{~�Ò�������y���d���~�
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��}d°~z�����{~²~�e��°[��£������&£��-�U�[�½���I�I�;�|� ± ��­~Ó�Ù-çmÓ
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��xmx
�~x�������Ó4µ��~���´¡·����åD{p�I����zª�������-��}dx����P�����-�&çpÓ Ùe©����2°f�I�4��������� ¶ ¡·x��4��ap�-£��
£����ª���I�����&�-�~²UØ�­�{~���I�e�-���;wy�~���|�������-� 	2JEU>C	d2C0V>9��8?BHKD�W �5A,?5NiL �>C<AQJEU>C0VXW�
2C�� ºÊÓ
�
�~x-���~�I�������-��x��¹¡·x��Ð²~��£Iz|�-�����~­&����xJ¼È�I����{p��°~��£I�|x-{~�Ð¼Ð���b�$���-²U¬
� � ��x$�������|x¶ ± �|­pÓ�Ù è � �p£Ix�}�°��-����¼b����� � º Ó

a Ó �#� � ��� &	� µ��~�����P¼y�����9¡·x�{~�~²q���-���I²qx��´µR�¦w	�D�R�-}�°~z|�ª��{~²~����«�wÜ��°[��£������pÓ
Ì�ap�-}�°~z|����x-¡4­�xmxD²U�-�~²B���-²Uµ g ± �-���½���px ¼b�;�|� ± ��­~Ó/Ù�ÙDÓ

ÖpÓ ��� ��� � � ��� �#� ��� &	� ³�������xD²~{~£��I²$¡·x��R���D}�}d�Ê���Ò�´�����-��x��~�kj^�-���-z�x�­�x�{~����x �h��{~�Ò¥
°p�|£I��x�{~����}d°~z�����{~²~� 
�Ó��¦x-�¦°��-�����|£�{~z��-��z���{~����¡·{~zX���b���~�½}dx�}��I���IÓ
± z|�-­��¦Ù�º � a ºÊ�/�-�p²;Ö^º���Ú[�I£Ê�¦�~�I�ª���~���b���~�q£��-z��|�~��������x��¹�~x������~�½���I£�x��~�Ò����{p£�����x���Ó

µ��~����� ]/��­����-����_�{~�Ò��°~��x�°��-­��»���I²;��xd���~��¼y�-���p}_�-° ¶ Ù_�-�p²�Ö^º
���~²�²~�I�-²~}d�-° ¶ è
�-�p² a º%x-¡��p�I�|­-�D�fx�����¡·x�������£¤� ��xJ¼È�I� ¶ �-�~² £Iz�{~�����I�¤º%�����»��¼È�;¼b�������U��x «��mµ � �IÓ
µ��~�Ê�A£����A�[��{~���I²U���Ð���~�½�-����z��D�����Ð�����-­��-�p�-Ó ­~Ópx��p��£Ix�{~z�²A��am£Iz�{~²~�½�-z�z[£�z|{~�Ò���������|�
���~�

3× 3
�-���I���-��x�{~�~²_�´��{~��°~��£I��x�{~�9��xJ¼y���I�mx���_�{p���Ð��am£Iz|{p²~�
���~�
£�z|{~�Ò�����y£I�������I���I²

x��A���~�|�Ð��x ¼È�I�b��x&���J�-����£I£I��°p�¤���~£I��Ó
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ÐÃ;7 ��Ã�<>=qÁ��
g �~£������~���»¡r���I���~{~���~�|�~­�°��-��� O��@V0A�� ���-²¹Ø��p�|���p�I²��p¼È�������Ax�{~�bæ��T}d�-£I��x$x��B�-z�z
��¡r���I���~{~���p�I²U���-�~x�«��mµ � ���/°~��xD²~{~£��|�~­���æ�� �p�|����x�­����-}àØ�z��½�-�~²U�dæ�� ��{~}�}_�-�Ò�
Ø�z��%¡·x������-£¤�?Ó¹µ��~�_æ��ä�~������x�­�����}âØ�z��I�q£Ix����¤���|�	ÑB���|}��|�~­A�p�|����x�­����-}d� ¶ x��~�%¡·x��
�I�-£¤� ���I£Ê��x���º��-�p² a �I�p�I��­��ß�~�|�Ò��x�­-���-}���¡·x��$���~�B°��-�|���%x-¡eË9���m£;���I£Ê��x���� ¶   ç è �
  Ù a ��ÌPÙ a ºÊÓ
�M���Iz|�����ª���Izª�%£Iz����-�d���-}�°~z��¦x�¡�°~�~x-��x��~�P¼y���^�Ð�|����x½���~�¦����}d���~­��~�|�Ò��x�­-���-}��ij^¼y�

x��pz��¹���I°p�
£Iz�{~�����I���¦}��I�Ê�����~­$���~��¡·x�z�z|xJ¼b�|�p­$����åD{p�|����}d�������ih
•
£Iz|{p���������I�~����­-� > çpÓ E ©���� ¶ C���� W 	 º�j

•
°~�~x-��x��B°~��x��~�-�~�|z������ > çpÓ è ¶ D@V>9EO �<D5bR9�UR9EA ��� W � º�j

•
�~x&²~���-²Ux����~x��¦��xJ¼y�����¦�|�¹���p�q£�z|{~�Ò����� ¶ 
@C:F�
	L8F<D���� ����� S2F0V0A5L8F<D	����� º�j
µ��~���I�~����­-���p�|����x�­����-}d��¼È�I����Ø~z|z|��² ¼b�����	£Iz�{~�����I���q¡·��x�} }��|�~��}${~} �|x��p�`[I���~­

°���������£Iz��I�y�������¦���-²'h
•
�½}d����£¤�~�|�~­½£¤������­���²������-£¤� ¶ C<L,GEU:VKH 
5e�	�	����$F<OQJ�
 C�L,GEU:V5H

0D5b,?
� 	�� W���
�� º�j

•
£Iz|{p���������I�~����­-� > çpÓ è �&©���� ¶ C���� W � 	 º�j

•
�Ð���~xJ¼È�I�X������°[�9�~x-�����I���I}$�pz|�|�p­Ð��������x-¡~�Ð°p�~x-��x-� ¶ GBbM? ����� W ���
� U5S@V0b,?BU 	
� º�j
µ��~�´°[x��������|x��~���p¼b�|²m���~�
�-�~²UØ~�¦°��-����}d�Ê���I���
x�¡����p�´°~�px-��x��U����}d���~­$°f���-�U�-�~²

���~�´§;³hËÞ°f���-�_¼È�I���q���~�I�U��aD�����-£Ê���I²;�|����x%���~�´æ�� ��{~}�}_�-�Ò�_Ø�z��-Ó
��xmx-�D���~­;���´���~�|�q�^�|�~²Üx-¡����p¡·x���}d�����|x�� �ª�´�~�-² �f�I�I�ÝåD{p������£Iz����-�´�����-�Ý�I�-��zª�

�Ò�¤�-­����������   a ���-²U�������|x-{~�b°~��x��pz|�I}��ih
è Ó   a �|���px-�9¡·{~z|zª�����~������{~}��I������²�Ó�µ������P}����-�p�9�������P�f��¡·x���� g £Ê��x��f�I� è�è x��~zª�è çU��{~°[����}�xm²p{~z|���½¼È�I���d¼Èx����^���~­�x�{m��x-¡ è ÑpÓ¹µ��p�I� ��� �-²~²p������x����-z�ÖU¼È�I���
���~������{~}��I�����I²���}d�-�^�|�~­��;��x��¤�-zPx-¡ è Ö~Ó�µ��p�|��¡+�-£Ê�$�~x��%x��~zª�Ü²p���-}d������£��-z�z��
z�xJ¼y�������ª���´�-£I£��I°p���-�~£�� ¶ ����°f�I£I�|�-z|zª� ¡·x��½���~�d°��-�|�q}����-��{~����}d���^���¤º´�p{p�%�-z���x
}d�-���I�¦�-£I£��I°p���-�~£��´£I�-z|£�{~z������|x��p�y}�x�����£�x�}d°pz|�|£I������²�Ó

ÙDÓ¦�
�   a ¼Ð�-�b���~������{~}��I������²Bz��-�Ò���~�ª�����-�Ð���~��}dx-����¡+�-{~zª���_��z|��£�����x��~��£I���fx��-��²
x�¡��-z�z?���I£���x�������¼b�~�|£¤�U�-z���x&���~xJ¼b�¦�|�B�����y����}d���~­>h4������°f�I�Ò¡·x���}d�-�~£����|�����|­��~�ª¡�¥
��£��-����z���¼yx������½�������U���~x����½x-¡R���p�qx����~��� E Ë��/�m£½���I£���x�����Ó

a Ó   a ���-�qz|�ª�������-z�z��;�D{p�~²~����²~��x�¡Ð�~x-�q��xJ¼È�I���I��}�{~£¤�Ý}�x����%�����-�Ü���~�����I�Ò��x�¡
���~�qË��/�m£½����£���x-���¦£Ix�}$�p�|�~��²�Ó
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µ4�-�~z�� a h�	K�^_`�X� �$� ���O���)�^#��M, ��0 ���[��	��1�L���`���L���^/ � U ���W>X�
��������{~�b¼Èx���² }d�I�-�~�|�p­

−1
�px¹æ�� ��������{p�
���������

0
��{~�B�|��­�xDxm²

1
��{~�U�|�����-²

2
{p���q������x-{~�
xJ¼b�U�������Rh����-²B����}d���~­

3
}dx�����²~����²U��x ¼È�I���
���   a �����-�B{~��{��-z

µ��~������¡·x-��� ����¼y�-�¹²~��£I�|²p�I²Û��xß��am£Iz|{p²~�   a ¡·��x�} ���������)�����-z��D���|�&¼b�~�I���������
���|}��|�~­$���b�-�B�|����{~��Ó
�e�e��¡r�����
���~�$��¡r���I���~{~���p�I�e£�x������I£Ê���|x-�~�¦���~�����~�I��­-�;£��-z��|�~��������x��B���I��}d��²���xd�[�

���$å^{~��������­�xDxm²$�����-°f� ¶ ¼b�ª���$���p�¦§;³hËÜ°f���-�^���f�I���~­������-�~z����-�~²&�������~�����-}d�yz|���-�Iz
���B�-z|zf����£���x-���¤º �����~��²~��£I�����|x-�¹¼b�����b��������{p�Ð¼yx���²;���~²~�ª�m��²~{��-zf��{p�~�����~x-{~z|²B­��Ê��¼Ð�-�
�������I²Ux��B���~�����|}��|�~­´�|�p¡·x���}_�»���|x-��Ó�µ��~�½�������|£½��£¤�~�I}��½£��-�U�[�½���I�I�;�|�Aµ4�-�~z�� a Ó
  �Ð²~���D��²~�I²q���~��ÌP§�wÐ��zp�|����x a z�x�­��|£I�-z|zª��²~�ªÚ?�������^��°��-�Ò����¼b�ª���$²~�ªÚ?�������^����������{~�

¼Èx���²p�ih�Ë��/�m£   �����I�?Ë��/�m£´Ì9�-�����-�~²�Ë9��©½z6ÓÐ���|�Ò���¦x-¡���{~�~�e}��I�Ê�����~­&��°f�I£I�ªØ�£%æ��
���Iå^{~�|���I}��I������£I�-�B�[���-�����I}$�~z��I²A¼b�����¹���~� V��5A � �8C0V�� {p���|z|�ª���%¼b���ª�������A���U�p�-���D�|�p�
��Ó ­~Ó h
V��5A � �>C0V��"N5NBU �0D>C � ����� 1���.@1"N5NE;R?	C@= 

� ��W�� N5NKJBD8C2G:?<C2J � �	��	�

N5N � �21K. �	��� N5N � �215.�� � � N5N �
�@.�� �
z��|�����b�-z|z[¡·{~z|z?Ø~�Iz|²U°~���D����£I�e�
{DÕD�
{���{p�~�¦¼b�p�I���´�-z�z�x-¡����~�´Ë9���m£ � $ � ���~�q�Ð�Ðw �|�
£�x��~����²~�I���I²½­�xDxm²?Ó��^�¤����{~��x-¡D�|�~²p���D�|²~{~�-z���{~�~�X£����q�f��å^{~�I���|��²½¼b�ª�������~� I@C0U21	U2F	U��QJ
{p���|z�������Ó
µ��~�q��������{~��¼Èx���²p�b¡·x-�Ð���~� a £��-z�x�����}d�Ê���I�È°��-�Ò����¼y�����q���Ê�e���b¡·x-z|z|xJ¼b�kh
•

����� ���#�
��� h9���~�I���q�-�����~x��^�~xJ¼b��°~��x��~z��I}��y¼b�����U���~����{~�?Ó
•

����� ���#�
� � h�£I{~�������^��z��%���~�I�����-���
�~x´��{~�p�È¼b�����_Ë9���pw  �� è x��yË9���pwÐÌ � è �
���~����������x�� �f�I���~­;�������´���-�I�ß��¡È���~������}d���~­A�|�q���-²��R���~�d��{~�Ü}_�����Ò���|z�z��[�
°f�I�Ò¡·�I£Ê��¡·x����-���-zª�m���I�´x��~z��	{~���|�~­�ÌP§�wÐ�-zy���~�I��­-��Ó�ËP�Ð©q� � è ���I��{pz������|� �
z��|�Ò��x-¡ è ç%��{~�~�b���B���~�½���-�p­�� a ç�ç�ç-ç»¥ a ç-ç è � Ó

•

����� ���#�
� $ h�¡·x��ÈË9���m£e���p�|�P}d�I�-�~�9�������Ð�´£�x��~����²~�I���-�~z��¦¡·���-£����|x���x-¡����~�e��{~�
�~�-²A��°~�px-��x��A°f������}�x����
���~�-�AçpÓ Ù´�~�Ðx�Ú [��I��x�&
�½¼b����� σ > 0.6 �p�Ð�|�A���^�x�¡4���~� E ��­�xDxm²�
�Ë��/�m£½����£���x�����ÓyË9��©½� � Ù$������{p���~�b�~x���{~�p�IÓ
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•

����� ���#�
� � h;x��pz��ß��°~°~z|��£��-�pz|�¹��x	Ë9���~w   Õ ���&}������~�%�������&���~�I���U¼y�-�d�
�p�|­��~���¦�����-��{p��{��-z4�^{~}$�f�I�ex�¡9²~���-²;��xJ¼y���������   a �[�~{p����z|zXx-���p�I�e���I£Ê��x����
z�xmx-�-�I²AØ��p�-Ó
�e�ex-¡9��xD²���� ¶ ç�Ô � Ù-Ñ � Ù-ç�ç�Ù-ºÊ�����~�����%�����&Ù���Ñ_��{~�p���|�����~�%²������-���-�������~���������-�

�Ý�Ò�¤����{~�¹¼Èx���²2x-¡´çÜ¡·x-�¹�-z�z a ÌP§�wÐ�-ze°��-�����I� è�è � ¼b�����)Ë9���pw  �� ÙD� � è ¼b�����
Ë9���~wÐÌ � Ùm�Px-¡b¼b�~�|£¤�ãÑB�������-�U�Ò�¤����{~� � Ù�¡·x��$�fx-����Ó è ����{~�~� ¶ �|�~£�z|{~²~���~­����~x����
¼b�ª���;ËP�Ð©q� � è ºÐ�[�Ê��¼y���I� ��{~�~� a ç�ç�ç�ç&�-�p² a ç�ç-Ñ � ¼y������}d�-���-�I²U¼b�����;�Ò�¤����{~� � a Ó
µ��~�´Ù���Ñ&­-xmxD²A��{~�p�¦¼È�I���q���~��¡·x�z|z�x ¼b���~­>h
Ù���ç�ç�çqÙ��-ç�ç�ÙqÙ7�-ç-Ö�Ö´Ù��-ç�Ö�Ô�Ù7�-ç-Ö�ÑqÙ��-ç E çqÙ��-ç E Ù½Ù���ç�Ô�ÑqÙ��-çB�»Ö�Ù�Ñ è �-ç´Ù-Ñ è �7� Ù�Ñ�Ù-ç �
Ù-Ñ�Ù è Ù½Ù-Ñ�Ù-Ñ�ÙqÙ�Ñ a ÔB�½Ù-Ñ a � è Ù�Ñ a � E Ù-Ñ a ���½Ù-Ñ a � � Ù-Ñ a Ñ è Ù-Ñ-Ö�Ö-Ö�Ù7�-ç�Ñ�ÙqÙ��-ç � Ö�Ù7�-ç � �
Ù��»Ö � �½Ù-Ñ-Ö�Ñ a Ù�Ñ-Ö�Ñ�ÑqÙ-Ñ-Ö � ç�Ù�Ñ E � a Ù-Ñ E � � Ù-Ñ�Ô a Ù½Ù-Ñ�� è �½Ù-ÑB� è Ñ´Ù�ÑB� Emè Ù-ÑB��� E Ù�ÑB�-Ô è
Ù-Ñ��-Ô E Ù-ÑB�-Ô-Ñ´Ù�ÑB� � E Ù-ÑB� � Ñ�Ù�Ñ � ç�Ù½Ù-Ñ � Ô è Ù-Ñ � Ô�Ù½Ù-Ñ � Ô�ÔqÙ-Ñ � Ô-Ñ´Ù�Ñ � � è Ù-Ñ � �-ÙqÙ�Ñ � � a
Ù � ç è Ö´Ù � ç è Ô´Ù � ç è �½Ù � ç a3E Ù � ç a ÔqÙ � è-è Ö´Ù � è�è ÔqÙ � è Ù�Ù½Ù � è Ö�Ô´Ù � è � è Ù � è ��Ñ´Ù � è � �
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a�a Ô è�è?a�a Ô è Ù
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